
Lösungen zu den 18. Präsenzaufgaben für MfI 2

1. Aufgabe :

(a) 4 Teilintervalle:

[1.0 − 1.5] : f(1.0) = 0.0 f(1.5) = 1.0
[1.5 − 2.0] : f(1.5) = 1.0 f(2.0) = 2.0
[2.0 − 2.5] : f(2.0) = 2.0 f(2.5) = 1.0
[2.5 − 3.0] : f(2.5) = 1.0 f(3.0) = 0.0

U(f) =
1
2

(0.0 + 1.0 + 1.0 + 0.0) = 1

O(f) =
1
2

(1.0 + 2.0 + 2.0 + 1.0) = 3

(b) 8 Teilintervalle:

[1.00 − 1.25] : f(1.00) = 0.0 f(1.25) = 0.5
[1.25 − 1.50] : f(1.25) = 0.5 f(1.50) = 1.0
[1.50 − 1.75] : f(1.50) = 1.0 f(1.75) = 1.5
[1.75 − 2.00] : f(1.75) = 1.5 f(2.00) = 2.0
[2.00 − 2.25] : f(2.00) = 2.0 f(2.25) = 1.5
[2.25 − 2.50] : f(2.25) = 1.5 f(2.50) = 1.0
[2.50 − 2.75] : f(2.50) = 1.0 f(2.75) = 0.5
[2.75 − 3.00] : f(2.75) = 0.5 f(3.00) = 0.0

U(f) =
1
4

(0.0 + 0.5 + 1.0 + 1.5 + 1.5 + 1.0 + 0.5 + 0.0) =
3
2

O(f) =
1
4

(0.5 + 1.0 + 1.5 + 2.0 + 2.0 + 1.5 + 1.0 + 0.5) =
5
2
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2. Aufgabe :
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= A(f) + A(g)

Analog zeigt man: A(λf) = λA(f)

2


